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Objective Intermediate Part First g *
Paper Code MATHEMATICS (Objective) Group —II
6198 Time: 30 Minutes Marks: 20 * 'ﬁ(
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the
Q.No.1 relevant circle in front of that question number on computenud answer sheet. Use marker or pen to fill the circles.
4 Catting or filling two or more circles will resuit in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.acf
S# Questions A B C D
1 | Ifn=1, then value of n(n—1)! is: 0 /2 ——. 1 /!-—7
o 490 ‘ \ [ﬁ%nal i&ratlonal =i /
2 | =5 ropresentsan/a: / Real nm‘lﬂf R /numberl,—r /;?}ntz?ﬁer
7 = % /
3 | Inthe expansion of (a+b)’, tI{e 2n w \ ?aéér_‘ \ i / 7é s
term is: \ /
4 |1e=: \ 7182/ radfan \| \E-radian | /- radian |/ 180n radian
- = 180n J
= i | —
5 | sin3x=: 4cos’x —3cosx |3cos’x —4cosx | 3sinx —48in % | 4sinx —3sin’ x
6 Rangeofsinxis: [=1,1] -1, - 151) (-1.,1]
L =t Xy 7
. i}fl ABC?ﬁ/y,tﬁ’@e\a\nd}\ 90°, 4 P _CQJJ;! \ [ 242 *czf} /az e Zailed
en: = J N -~ d Y
With ﬁsualln/ \o\ftnangle - b ¥ / bsi acsin B
8 ABCis: ‘0"\ Ve ’\(\_ = asinp” / — 2
| \ ! !
| _|r| N ey n il / =
9 tan(t\an (D)= / / T\ }/ 7 / .f I 1
Sy T /
L ~ e A xsm /| msm n 2
10 If51nx—2;thenx 13 576 5" 6 33 |
11 | The set, S= {1} is closed under: Multiplication Addition Subtraction Division
T j
12 | pA~q is a/an: / ,/;xbsu@\ /l'/ TN \Inverse ‘/64’74'56
B! / | o /
i p— = T [ = T ]
13 IfAzB‘ }and[Al—l the}{ =1 _ — 11;__,// 2 H/ jp
4 ) h '
14 | Thematrix[a b dlisa/ : Sanare) Row \‘I \ Unit /f {%ull
matrix. [N ) 2 L /]
Fc2>r what #alue of K will equation L N , /
15 | x*¢Kx+4=0 have sum of roots ~~—}——" 3 e —4 = &
equalto product of roots?
16 Whichisafactorofx"+a",neO? X+a X—a x=0 x-2a
p(x) \P (il "‘ o ) / r.'III r
7 wi b/pﬁﬁer‘ﬁsgctl if / / - | \J ‘ ’4///; / 2 3
degr of piy=r——- ’ g L~ / !;"
18 | No, t%rm the ge—;r?emc écquence is: L '-H«J\ \ 0 _;f / 2 -1
If two HMM hd T L) [
19 45/ / 5
then S¥itha H__Msﬁ / 5; ; 2J5 6v5
! S— el f
bpy=: 3450 361 360 363
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oXI Intermediate Part First Roll No.
1110-XI123 __
, MATHEMATICS (Subjective)  Group —1II L
Time: 02:30 Hours Marks: 80 A3y g
SECTION -1
2. Attempt any EIGHT parts: 16
(i)  State trichotomy property of real numbers.
(ii) . Express -l_:_—l in the form of a + bi
(iii) Write the descriptive and tabular form of set A={x:xeEA4<x<10}
(iv) Find the converse and inverse of ¢ — p
(v) Define group.
g : o X+3 I . 2 1
(vi) Findxandy if [ 3 3y-4] —[_3 2}
(vii) If A and B are non-singular matrices, then show that (AB)™! =B~1A!
12 0
(viii) Let A:l 3 2 —ljl, show that A + A" is symmetric.
-1 3 2
(ix) Find three cube roots of unity.
(x)  Show that x +a is a factor of x" +a" where n is odd integer.
(xi) Ifaand B are roots of 5x* —x —2=0, then find value of %+%‘
(xii) Show that roots of equation (p + q)x? — px —q =0 are rational.
3. Attempt any EIGHT parts: 16
2
(i) %;ii is an improper fraction, convert into proper fractioft.
(i) Find ag for the sequence 1, 1,-3, 5,-7, 9, .....
(iif) Sum the series (<=3)+(~D+1+3+ ..... +agg
; : 1 1 1
(iv) Find the nth term of H.P. 5353 @
(v)  Find the sum of infinite geometric sgries %+% -:-% + oo
(vi) Define arithmetic progression.
(vii) Evaluate %
(viii) How many signals can be:made with 4-different flags when any number of them are to be used at a time?
(ix) Find the vald@of nwhen™Cs = "C,
g A
(x) Expand (-—2—— ;)
x 22
(xi)€ Find the:térm independent of x in the expansion of (5 + _ZJ
X
(xii) Using binomial theorem, find the value of v/ 99 up to three places of decimals.
4. Attempt any NINE parts: 18

() Find 6, when ¢=3.2m,r=2m

(i) Prove the identity cot* 6+ cot?8 = cosec’® — cosec?
(iii) For 6= :-gin , find the values of sin® and cos@
(iv) Show that c0s330°sin 600° + cos120°sin150° = -1
(v) Prove that sin2a =2sinacosa

(vi) Express 2sin70sin20 as a sum or difference.

(Continued P..... 2)



(vii) Find the period of sin%
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(viii) In the triangle ABC ifa=36.21,¢c=30.14, B= 78°10° find angle y
(ix) The area of triangle is 2437. Ifa=79, ¢ =97 find angle § .

(x) Showthat p = stan-g-

(xi) Without using table / calculator show that cos™! -‘g— = cot“—g—

(xii) Find the solutions of cosec x=2, X € [0, 2]

(xiii) Solve sinx +cosx=0

SECTION -1I

Attempt any THREE questions. Each question carries 10 marks.

. (a)Solve the system of linear equations by Cramer’s rule:

2X1—X2+X3 =8
X, +2%, +2X3 =6
x;—2x2—x3 =i

(b)Solve the equation: x* - % ~7=x-3V2x2-3x+2

. (a)Resolve into partial fractions:

(b)Find value of n and r when

2x*
(x=3)(x+2)?
e, s G o 0. =36

. (@) The sum of three numbers in A.P is 24 and their product is440. Find the numbers.
(b)If x is so small that its square and higher powers can be neglected, then show that:

u s 2
(1+x)2(4-3x)?2 ~4l1 5x
I % B

8+5x)3

. (a)Prove the identity

cosO+sin® geesO=sind _ 2

cosO—Sin b

cosB-+sin® 1-2sin’6

(b)Prove that

. (a)Prove that 1 = stan%—

(b)Prove thabsin™ %+ sin”! %

sin 0 +sin30 48in 0.+ sin 70 _ —_
c0s0 +¢c0s.30 + cos.50 + cos 70
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